FA0EFEEH R GHE FERNERBTREELFFR
BAH:20165%1087H

B RIG RS
HH EE

RCERR (55F-iRES)
TE T

E:ANEEE K& HE Eoex Lo K& = gy K& = ek Lo K& = ek |
10/07|1FBF 100m| ! 1 [#kE HE) SR 1279| 2 |Fgith $mER() EArR 1371| 3 |f@E AW E3 1372 4 |BEX #AM) =H 13”3
5 =€ =AW =8 1375| 6 |fRHE HE1) SR 1379
10/07 200m| ! BEEES) BEAR|  2478| 2 | THE() B#A®| 2676 3 |HE M) ERE| 2079
10/07 1500m| ! 1 [FET =W K| 50177] 2 [[BEREEIR) K| 50474| 3 |k EE0) #MER 50673 4 [BAK K—(1) #HEl 52672
5 |AXKH [EM) = 54073
10/07 3000m| ! 1 (AR T K| 121378
10/07 100mH| ! 1 |#N FE) =) 22”3
10/07[2F5F 100m| 1 1 |#F4 EBRQ2) #Hz 1276| 2 [PE Kih(2) =8 1279 3 |#&H MFEQ2) =8 1370 4 |&Y) MFQ2) EFE 1370
5 f%LE #Q EHR 1370| 6 |L# HEEQ2) =it 1372
10/07 200m| ! 1| R+ 282 =H 2676 2 |H¥E MKQ) L¥H 2778| 3 (=& BIL(2) EHR 30"1
2 1 |%kR %K@ =R 2576| 2 |{B8B F|IRQ) FE#R 2676| 3 |RR &I{Z(2 =8 2771 4 |FE () FE#R 2872
5 |fhfE EHE2) =H 29”6
10/07 1500m| ! 1| RN #E|  42870] 2 |=# KEQ) EER| 43475 3 [HLE B2 HHE|  44276| 4 [FEHEZAERQ) =R 44474
5 | REH BAOQ #ME| 44872 6 B $EQ) EH| 45676 7 |HE KH©) #ME| 50373 8 |BE {AHIQ) #HHA| 50674
9 |BE #REN2) =Bt 51177\ 10 |=f 3h3H2) EfRE| 51879 11 |FKE  EEQ) =Bt 53775/ 12 |F# HMEQ) #KREB| 54076
10/07 3000m| ! 1| BERT 22 Z| 94174 2 |[REH KEQ | 100679
10/07FRBF 1 |ig0 B EHE|  22875| 2 |BM EAQ BBE| 23370 3 |HE BAOD BBE| 2420
#h WEQ =8 #—0 B REQ) Wl KA
10/07 i 1=t EEBED s 2 [ExE e B w27 o |we At BED s 4 | Lam R XEG s
4x100mR PR AH(2) K& KHQ2) FL EN2) a2 Q)
HE 82 =in RIEQ) AH £(2) X% BAQ)
2| |1 |msem b e 09| 2 R B mo)| ¢ 9 [am Tl Gmy o9 ¢ mA et L
B AW FR B =2A @AW 4 KBE5Q2)
10/07 Tk 1 |RK B&H0) BXER 1m25
10/07 gk ! 1 [B&K B&W EHR 4m72| 2 |RE FEHQ) =4 4m43| 3 |IFHT EB4h(2) #H 4m15| 4 |BRHE HK©) #H 4m14
5 [FEO F=(1) SR 3m63
10/07 rane| ! 1 [ ZEAEH) =8t Tm32| 2 |Ei FIEQ) =H 6m34| 3 |KFEEZBI(2) #H 6m25| 4 |SFER (1) ESEiEE 6m24
5 |KE 32 ERHLED 6m24| 6 |FFT#IFTH(1) SR 5m90| 7 |JI¥k —EQ) =8 5m89

1/4



S540[E FHED R 5 i R rh P M F AT KRB LR

#B:20165F10H7H =742 R
SRS 1E T H B F SRS ik E (BF-F:%)
HH ;ﬁa f

E:ANEEE K& HE Eoex Lo K& = ek Lo K& = ek Lo K& = ek |
/071 FEF | | [E HAD £ 1373 2 [FEE HE() BRE| 1472 3 @A —KO) =8| 147 4 |[EB BEO) =@ 1575
2 1|5t B0 ERR 1370| 2 |#AH HEW) SR 1371 3 =& \AM) =H 1372 4 |== =AM =8 1374
10/072FFF 1 | e e me 127 2 [t kW k| 1371 3 [EE REQ gm 137 4 =@ REQ EEE 1470
5 [5KHE #lN2) E#HE 1477
2 1 |#HE #BOQ EHR 1370| 2 |&#E &0th(2) =H 1374| 3 |4%ME B2 #H 1377| 4 |hH BE#HQ E#R 13”9
5 ¥R KEQ) L¥H 14”3
3 1 [HRE KH(2) =8 1370| 2 |5kR K2 EArR 1371 3 [/l 1&5#(2) =H 1371 4 |7 BEQ HHLER 1470
5 |fhAf BEK(2) =0 1475
4 1 |[#A MFEQ =8 1279 2 |AY) MFQ2) E#HE 1371 3 | Rk #EH2) ExE 1373| 4 |RE £2) =H 135
5 |AITREEFQ EHR 1478

2/4



S540[E FHED R 5 i R rh P M F AT KRB LR

BAH:20165%1087H

LR (XF-

BHaIs B RN RIS RER)
H B B [ K2 e Rk iz K2 e Rk iz K2 e Rk iz K2 e ks
1/07[1FEF INEEE2E 0 £3 1378| 2 |¥rh EE(1) BHE 1474| 3[BT —%(1) £ 1476| 4 | KB @) =| 1477
5 [/l EFRG) t#HMA 1478| 6 |AI%F EF() EREIR 1479
10/07 200m| ! 130 %Q) = 3177| 2 |B#E Ex(Q) = 3377
10/07 800m| ! 1 |Hie RFED) AR 23770 2 |BRR EBEQ) =H 2'3979| 3 |#&75 WRER(1) = 2'4376| 4 |7ER BTE() AR 2'49"1
5 ;A EEA) =H 25071 6 |3E@EE /NE1) EfER 30572 7 |/NEF BESH(1) =H 30671 8 |FAE #HE(1) EiAE 310”5
10/07[2FKF | 1 @t mEQ) =t 1379 2 |BK BEQ SR 1472| 3 |HE BEQ =@ 1473| 4 |8 BP0 R 1478
5 | HERERQ) =3k 1478| 6 |f& #ERINQD) ESR 15”0
10/07 200m| ! 1| EEQ) ERER 2970| 2 |EKR FM2) EiRR 3075| 3 |EF IEEX(2) =i 3079| 4 |#K BHEQ) AR 325
10/07 800m| 1 1 |HA FEQ R 2'3870| 2 | HFEQ) FE AR 23875 3 | KB AEQ) E 24279| 4 |REFXEEQ =EH 2'48”8
5 [RAELF(2) AR 25373 6 |HER TH¥EQ) ER 25473| 7 |HE #IQ2) #H 2'55"1| 8 |PTHE FiE(Q) EFE 258”6
9 %L BEQ) =Xk 2'59”5( 10 |#R3h E A(2) EBHLER 30174 11 |LUfE HEQ) FE AR 30372| 12 |HE REQ) HBHLER 309”3
10/07 . 100mH| 1 1| R & hne2) BN 2172
1o/07 PREET 1 | [ HER IERBEEED B@E| 5409 3 |[NB HAQ) @E| 55073 4 [BET HQ 2 o068
e BEX) HEF %) B 1%15(1) mgE =&
10/07 1 T %3}} %’%gg 5673 2 |ERE %g f‘g% 5973| 3 |EBHAER gﬂ fg%}g 10176| 4 |#m@ féﬂﬁ’,é;g% 10279
4x100mR A HEH02) & ERIR2) BRah ZH(2) R _2)
R4 1] o8 BEO) XB B0 g
KR ” s A ” = A h: ” i BEHE YA
2 INES m*_¥(1) 5772| 2 |EE#AE W%T 3 5(2) 5773| 3 |EMH Nt B 5873 4 | A ﬂi%;ﬁ’z%(m 100”3
AE BEQ) FEE FNHQ) R BEQ HH EFEQ
10/07 g ! 1 |EE 252 =30k 4m03| 2 |£HE /NET(2) #H 3m51| 3 [MEBEVKYQ) =fh 3m22| 4 [/NAT 2LEE2) e 3= 3m13
5 % #REF) g 3=1 3m08| 6 |LEBHLHA?2) #HE 2m97
10/07 fasg| ! 1 (& BAEEQ2) EHRE ams6| 2 [HHE £ =H 8m59| 3 |IR EFIEEEQR) =H 8m05| 4 |BE IER(2) #H 6m94
5 Y8 K22 AR 6ma4| 6 [/MIBE FIE(2) #H 6m20

3/4



S540[E FHED R 5 i R rh P M F AT KRB LR

BAH:20165%1087H
PR i5 R L RS
HH %5 f

RERR (XF-F:H)

E:EEN K& HE K& = {53 K& = K& ek |
10/07 1 R qE®0) = FEN D HHLER 3 BE&0) ESR nE &30 1671
&g 2 E#HEH
2 Fren RE®) =R AN EERRCT) Lt#mE 3 BF) FEHR BEBKREW) 1670
Bt #Ex31) ERHYER
3 BT —3(1) E3 AH tiE0) =H 3 FE0) SR Il #E0) 16”1
10/07 1 BRR #HEQ SR AR BEQ =H 3 T2 L#HH R EE2) 1574
mE RE=Q2) #H
2 i mEQ = & FERERD) EREF 3 E(2) FEH#R EEFEEEQ) 1572
AR XEBQ2) ESR kR #(@2 #H

4/4



